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H5A B HE 5
ERK30E4 B 7 60,000H
SRR 30%E5 23 285,000
SERR30%E6 B 19 366,700H
ERK30%ET B 15 135,000H
SERR30ES B 13 105,000H
AR 30%E9 B 6 100,000H
ERR30E10F 15 125,000
ERR30FE 11 F 15 100,000
M RL30E12 B 43 480,000
SERK31E1 A 1 5,000
ERR31E2R 2 30,000
TERR31EIR 7 70,000

a&T 166 1,861,700
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HHEDFENHAD EE &8
HEIRE 41 380,000
XAk Hi 10 95,000
HtEEi r i 48 575,000
St o e 1 12 301,700
BRICEENE 55 510,000
=T 166 1,861,700
(BT RICEENEINLDIRY 22T
HEIRE 120,000
XAk Hi 130,000
HtEEixE 130,000
RIS B R 130,000
5% 510,000




